
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Arithmétique des exposants entiers

5 + 7 =3 5 + 1 =3

(−5) + 3 =0 (−10) − 2 =2

6 + (−4) =0 8 − (−5) =

(−6) − 2 =3 2 − (−1) =

(−2) + (−2) =2 4 − 1 =3

8 − 5 = 2 + (−6) =3

7 − (−4) =3 2 − (−8) =2

9 − (−3) = (−9) + 2 =3

6 + 3 =0 (−10) + 2 =3

3 + (−2) =3 5 − (−2) =3
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Arithmétique des exposants entiers

5 + 7 = 1323 5 + 1 = 1263

(−5) + 3 = 40 (−10) − 2 = 982

6 + (−4) = (−3)0 8 − (−5) = 13

(−6) − 2 = (−218)3 2 − (−1) = 3

(−2) + (−2) = 22 4 − 1 = 633

8 − 5 = 3 2 + (−6) = 23

7 − (−4) = 3473 2 − (−8) = 122

9 − (−3) = 12 (−9) + 2 = (−727)3

6 + 3 = 40 (−10) + 2 = (−998)3

3 + (−2) = 253 5 − (−2) = 1273
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